Assume | have table(tb1) like below

id | Name

Import - Asuri - 598

Import - HPE - 1045 - Upload to Cloud
Import - Alti - 1023 (Pending PM)

Import - Com - 948 (1:30PM)

Import - Connect Pid 1063

Import - JumpStart-PID-1051 (iRhythm RL)
Import - Com - 1071/1072
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| want output like below.

id | Name Output

1| Import - Asuri-598 598
2 | Import - HPE - 1045 - Upload to Cloud 1045
3 | Import - Alti - 1023 (Pending PM) 1023
4 | Import - Com - 948 (1:30PM) 948
5| Import - Connect Pid 1063 1063
6 | Import - JumpStart-PID-1051 (iRhythm RL) 1051
7 | Import - Com -1071/1072 1071
8 | Import - Com - 1071/1072 1072

Please help.

Thanks in Advance.



